Xes

i
<}t

4. Rename each fraction as
an equivalent fraction.

b, 1

2. Write the value of the digit 9 in
each numeral bélow.
Example: 79,804 The value of the
9 is 9 thousands.

a. 401,297

b. 1,927,387

c. 95,063,843

d. 6,948,331,567

3. Complete.

3. 43,708

4. Complete.
a. 1500/5 = a. 3yd = in
b. 600 * = 54,000 b. 6ft = in
C. = 80 * 90 c ft =241in
d. 8100/ = d. 31ft= in
e. /90 = 50 e yd = g ft
ft
a. 2653 c. 27
+ 4819 109
T 75
+ 2636 ~

g




Time

%%

Write five names for £.

§

Rule: Each name must include the

fraction

1

7/8

form.

Mark and label the following numbers on the number line.

2
L= 4

—

A

2

recorded the number of hours the

anis +

Thirty stud

%&

Mours Spant Walching Television

>~

S e e

X X
R K XK

frianimme:

sy

s




4. Add
a. yeup+icup=__ cup
b. goup+icup= ______ cup
ce. scup+oup=___ cup
d. Joup+icup=___ cups

3. Draw a line segment 23 inches long.
Make dots on the line segment at
the following distances from one
end: § inch, <% inch, 12 inches, and
2% inches. Label each dot.

é&

Find the median and mean of each

set of numbers below.
a. 7,2,12,5,9,18

median: _ -

mean: ——————
b. 21, 47, 34, 96, 71

median:

fad




Date Time

ath Boxes 5

€ 4+263+ 1020+ 79 = _

1. Write 5 fractions equivalent to &, 2. Write the value of the digit 3 in
each numeral below.
a.
a. 456,396
b.
b. 3,598,902
@ﬁ il
e. 40,378,922
é%
e. -
d. 932,721,400
e. 790,473,225
3. Complete. 4. Complete.
a. 28000/70 = a 42in=__ ft
b. 400=80x* b 31ft=__ in
C. = 49,000/700 c. . in=43yg
d _ = 2100/3 do 24ft=_ in
e. 560,000=700+« _ e. ____yd=32#
5. Add.
a. 4209 +6385 = ___ R b. 472 +38529=___




Date Time

4. Write each fraction in its simplest 2. Write five names for 1.
form. Rule: Use fractions only.
Use any operations.

8 .
Ze iz DU ——
2 _ v

d. 55 —

3. Mark and label each of the following numbers on the number line below.

1 2 5 1 6
a. 3 b. 15 C. § d. 2g e. 3

5 oo
e
s
I -
e
N .

s, i
U

o

X p4
X b 4 4 X X X X X A , X ) 4
: ) ; ; | : ; »”’z | E i
8.9 100 10.2 104 10.86 108 11 12 18 sec

Source: World Almanac and Book of Facts 1996,

Find the following landmarks (to tenths of a second) for the data set.

a. maximum: ____ b, minimum: . c.range: .
d, median: ___ e MoUe(5)l e =

el
sy,
g;“w?




Complete.

a. 8oz= ib

B, 12lb= ____ oz
c.560z=____ b
d. 3+b = _ oz

Draw a line segment that is

12 inches long. Mark and label
dots on the line segment at the
following distances from one
end: & inch, 13 inches, 1% inches,

&

4
15 inch.

Find the median and mean of each
set of numbers.

a. 13,29, 18, 34, 21

median:

mean:

b, 42, 16, 51, 41
median:

mean:

In some 60-minute television
programs, there are about

9 minutes of commercials. At that
rate, about how many minutes of
commercials would there be in

24 hours? _

one week?

Subitract.

a. 100026 =

b. 2037294 = ___

e




1. Rename each fraction as a mixed | 2. Multiply.

number or a whole number.
@ 81 %13 = o

;§§“£
se%g 11ttt thonts T errararmnrn s )
b. 4372 =
b. 2= _
-
gag“

e. = __
3. Use the following bar graph to answer the questions below. 171 B
Heights of the Shortest and Tallest U.S. Presidents
58
E}?E
5
£
5 6" [

Source: The Top 10 of Everyihing.

a. How tall was George Washington?

b. How tall was Zachary Taylor?

e. Who was the shortest president?

d. Who was the tallest president?

e. What was the difference in height between
the tallest and shortest presidents?

£. Which height occurs most often for the
v 5 : e

g. What was the difference in height between
Ulysses Grant and Chester Arthur?

&
&
®
::q
poe: 2
BV
iy
[
(63
&
o
£
o
i
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1. Rename each fraction as a
decimal,

N
-
I

2. Find the perimeter and area of
this rectangle.

S cm

3cocm

perimeter= _____ cm

_cm?

3. Complete the “What’'s My Rule?”

table.
in out
30
42
17
105

4. Draw a parallelogram that has all
sides the same length.

This type of parallelogram is also

a. Which kind of peanut butter
do most Americans prefer?
b. Which kind is preferred by
1 : ~
about 3 of Americans?
¢. About what percent of
Americans prefer
natural peanut butter?

5. According to the circle graph at the right:

fand
“
o 4




Sminsa e

1. Rename each fraction as a mixed
number or a whole number.

3
%%2““_% MMMMMMMMMMMMMM -

%3

. -

é;éw

Qrpd
i

4y
LI
% et

&, zw e

3. Use the following bar graph to answer the questions below.

LT e e

1997-98 Cost of Seats to Watch the Chicago Buills at the United Center

400 = e —

350

Ticket price ($)

50 -
o L= = i | ; ——
Rows Hows Hows All Rows Hows Main
p 1817 812 =7 1+ 1 Rows 4 [ 12-19 Mé—fz? 1 Floor
300 Lavel 0 Level

a. How much do the cheapest seats at the United Center cost?
b. What is the range of prices for seats?

c. What is the difference in price between a
courtside seat and a seat at the 200 level?

Courntside
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1. Rename each fraction 2. A rectangle has a perimeter of
as a decimal. 30 centimeters and an area of
: 50 square centimeters. What
&e v = 0 . aor
. ”“"M might its length and width be?
b, 2 =
& length = cm
g _3, i |
L — width = cm
4. gg e
; 21 ..
€ %5 T — —
3. Complete the “What's My Rule?” 4. Use your Geometry Template
table below. to draw a regular hexagon.
) Then divide this figure into
in out , PR
6 congruent triangles.
45
0
25
15
What kind of triangles are these?
5. Use these circle graphs to answer the following questions.
Percent of Water in Foods
/ 4 \ h\\l / 1n / N
/ ‘ , [ Y \
| A | 4 !
\ - g
.‘/- . ~ \‘ 1
W r/ \_wailer \ water /
L 4 N '\
- . NFa5
bread Di ripe tomato
a. Which food contains the greatest percent of water?
B. About what percent of the content of bread is water?
¢. About what percent of the contentof aripe tomato iswater?




Write each fraction in

iﬁ!

orm.

i1

imples

o
b

Rename each fraction as an

equivalent fraction.

%%

%5

Add or subtract. Simplify the

answer, if possible.

3.

| | | W w
| L |
M L =2
| | 2%
. / | J , | L a2 3
2 ,_ M W Lo 2
£ | . 2%
5 | | d £ ¥
'S8
@ / M '3 E
S} ﬂ | L
< . Lo 2
w M i 1 (18
S i L
S
S H
@D
Eo
£
=
[

ey
W
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4. Write each number in standard
notation.

EN kI B

n
(933

i

|

g

i

{

%

|

b.

L
o
n
i
|

b

&

a2
i

§

|

|

3\

|

|

|

e 1062

3, Write equivalent names.

Decimal

T

Complete.

a. 4 % 7,000,000 =

c. 50 * 60,000,000 =

d. 6000 miles is what fraction of

24,000 miles? R

i

4. Multiply.
a 34%x67=__

b. 29 * 51 =

MMM..wW»MMMWMWMM%_MMMMM,W,‘.Ww),wvﬂ_,wmmw.ﬁmw
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a. How would you read 32,000,0007 Circle the correct answer.

thirty-two thousand  thirty-two million

b. Write fifty trillion using digits only.

: | |
i it

thirty-two billion  thirty-two trillion

a. 3

b ooy ke

2. Estimate each product by rounding the larger factor to the
nearest million. The first one has been done for you.
a. 4 * 3,110,000 is about 12,000,000
b. 4,906,854 % 20 is about
¢. 980,421 = 9 is about
d. 34,509,113 % 5 is about
3. Compare. Write < or >. 4. Solve each open sentence.

a, 32 + n= 58
Solution:

b. y— 183 =20
Solution:

48 = 4 x d

83 P!
€2, £ %

List all the factors of each number.

&

s

b.

(RIS
C

i
[haitas)

€5
e




4. With a compass, draw a circie
with a radius of 1.5 centimeters
and another circle with a diameter
of 4.0 centimeters. Calculate the
circumference of each circle.
Round to the nearest tenth of a
centimeter. Use the m key on
your caloculator, or use 3.14 as

é? 171118¢

[

2. The U.S. Postal Service claims that from December 1
to December 24, Americans mail an average of 78 million
holiday cards per day. (Remember, there are about
250 million people in the U.S.) About how many holiday
cards does the average American send during this period?

Does this statistic seem reasonable?

-

3. Frank saved $93 for his birthday 4. a. How many hours
celebration. He wants to take some  are there in 1 week?
friends to a ball game. If tickets
cost $8 apiece, how many
tickets can he buy?

b. How many days are
there in 13 weeks?

e. How many days are
there in 4 years?

d. How many months
re there in 5 years?

[ —

as a mixed number in simplest list below.

form. — .

[y
s
£t
Cat
[{n]
(o]

the value for . Circle 1 e

Circle 2 Y=

e

e

5. Add or subtract. Write tha answer 6. Circle the prime numbers in the

92




%%

g*

F o
64

5.

Write each number in standard
notation.

a. 6= B

Uy

Write equivalent names.

Fraction Decimal

1
gé Ei

Percent

b. 40%

&
3]
oy

T

Mark and label each fraction on

the number line.

5 7 7 i5
] 3 B ! §
i f
0 1 2

2, Complete.
a. 40,000,000 =
goo%
/900 = 4000

%Q eSS S S

e, 1800020 =

d. 30,000 miles is what fraction of
2 700,000 miles?

USRI

4. Multiply.

a. 46 % 19 =

IR

b. 32 % 707 =

ST T————————

et

6. Tell whether each angle is an
acute, right, obtuse, reflex, or
straight angle.

a. 270° angle:

=
sl

{0° angle:

&%
P
W
&
]
W
=
@
%)

‘i;‘;,&m
o
O
P i
o
ot
@
M
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Write the number four billion,

five hundred three million, fifty-six
thousand, eight with digits.

ﬁg

2. Estimate each product by rounding

the larger factor to the nearest
hundred thousand.

a. 8 x 146,904

b. 3,560,103 * 2

. 985,643 % 5

d. 99,960,365 * 3

3. Compare. Write < or >.

a. 5 3
b. ¢ 5
c. 2 3

Solve each open sentence.

12/ =2
Solution:

-

b, d/12 =2
Solution:

c. 3—-3xb=0
Solution:

d. 5% (8 —ny =15

Solution:

of each number,

Add or sublract,
1 3

a. ;tz= _
5 2

b. s v5= ___ _

c. 1—2= _
a2 7

ed. £ T e

)

o
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Date Time
= N
4 &
\\xlﬁ."-_;if /} e
1. Draw a circle whose diameter 2. Inthe U.S., people generate about
is 5.0 cm. Calculate the radius 1,100,000,000 pounds of garbage
and circumference to the nearest per day. (Remember, there are
0.1 cm. about 250 million people in the
U.S.) About how many pounds of
garbage does an average American
generate each day?
Does this statistic
seem reasonable?
Explain.
r=____cm C=___ _¢cm
3. A group of 193 sixth graders are 4. Estimate.
entered in a 3-on-3 basketball b
tournament. How many complete @ Vi%ﬁ% LS mag’;gg‘mafg%;g
teams of 3 players can be formed? avsiyoufbeenfaliveis == ——
k. About how many weeks
""""""" have you been alive? _______
What would you do about any
Haftover” students? ¢. About how many days
have you been alive? .
5. Add or subtract. Write the answer 6. Tell whe
as a mixed number in simplest are prime
form.
%ﬁ
a. 2t +4d=
b, 43 — 25 = ___ . b.
| =

3
$

M
€




1. The circumference of a light pole is
about 25 inches.

a. What is its diameter?
about in
b, What is iis radius?

in

about

Write the number three hundred
forty-five million, two hundred six

thousand, seventy-one with digits.

2.

Estimate the product by

éi

rounding the larger factor
to the nearest million.

Write each number in standard
notation.

a. 5% =
a. 32,704,381 * 6 =
b, 26 =
c. 107 =
b. 7 % 4,098,128 = .
éﬁ é’u ==
e. 6° =
c. 9,610,484 % 8 =
d. 15,361,002 = 10 =
5. Complete.

32,000/8 = UL
fin oe, OUL/C 1 in the millions place, 7 in the
b, 700,000 * 80 = ten-thousands place, 2 in the

hundred-thousands place, and
0 in all the other places smaller
.. 160 than the billions place.

= 800,000

d. 900,000 % 400 =

m@‘z‘%
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1. The time of day varies from time zone Write each of the following
to time zone. The time difference numbers using digits.
between Newark, New Jersey, and
Seattle, Washington, is given by the
formula N — S = 3, where N stands
for the time in Newark and S for the
time in Seattle.

a. five and fifty-five hundredths

k. one hundred eight thousandths

a, 1S=8pm, N= __ S

B, fIN=8pM,S= _ , e. two hundred six and
nine hundredths

e, fHS=1tam, N=____

3. Write a number sentence for each word sentence. Then tell whether the
number sentence is true or false.

Word Sentence Number Sentence True or False?

If 19 is subtracted from 55,
the result is 36.

78 added to 62 is
less than 160.

4. Sonia bought 33 yards of fabric 5. Add or subtract
to make a dress. The pattern for . 036+ 54 =
the dress calls for only 25 yards He EOB T I T e
of tabric. How much fabric will be g, = 108.63 — 96.17
left to make something else?




Dats Time

1. Plot and label the following points
on the coordinate grid. 7

(—3,6) 3
~ 2

B L
o
-
4,
S
d
i
3
|
(2
o
t
fan
ER
v Oy
P
[
S
o
S
4

2. Complete. 3. Write in standard notation.
a. 25¢cm = mm a, 2% = _~
b. 1500mm=___________cm b. 3% =
¢. 1500 mm = m c. = 82

d. m = 650 cm dg. 10°=___

4. Add. Write your answers as 5. Multiply.

fractions, whole numbers, or mixed
numbers in simplest form.

2, 4 b, = =015%38
e PR T

5 c. 054x02=

v
-
S,
"+
a2
T
i
H
H
i
|
|
{;
1
|
!
|

e Bigi= o d. 505%04 = ___

o
)
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1. The relationship between Ann’s
and Burt’s weekly allowance is
expressed by the formula
A = 2 * B where A stands
for Ann’s allowance and B
for Burt's allowance.

a fB=§5 A= __ _
b. fA=85 B=
c. fB=$450,A= __ =

Write each of the following
numbers using digits.

a. five and seven
thousandths

b. two hundred and

forty-nine

hundredths S
¢. fifteen and eighteen

ten-thousandths  ___

number sentence is true or false.

Write a number sentence for each word sentence. Then tell whether the

~ Word Sentence

i‘\iizm;iﬁeg Seﬁiesﬁ::s

True or False? |

Five times eight
is equal o 45,

15 is greater than
2 less than 10.

If 72 is divided by the

square of 3, the result is 8.

Martin is building two picture
frames.

He used 43 feet of lumber
for one frame and 2 feet
for the other frame.

How many feet of lumber
did he use in all?

8. Add or subtract.

$12 — $4.65 =




1. Doris swam 22 times from one end | 2. On average, a person Q%é%iﬁé‘i{l}
of the pool to the other. This is a consume 25 quarts of water a day.

total distance of 440 yards.
: a. About how many

a. What is the length pints is that? .
of the pool?

b. About how man

k. How many lengths must she cups? o
swim to cover a distance

of 100 yards? c. At this rate, about how many

quarts of water would a person

¢. What distance did she cover consume in 1 year? Circle the
after swimming best estimate.
8 lengths?
100 1000 10,000 100,000

3. a. Draw a line segment that is 32 inches long.

b. By how many inches would you need to extend
the segment to get a line segment that is 5 inches long?

@, 3720 % 68 = _
= 29 % 814

% ES e

96



Date

coordinate grid.

A (

R—

1. Write the number pair for each of the following points shown on the

. 2l e
B: ( ? ) L i A
O i 3 B .
| |bEL_§ 1|
E: ) ) . $£3:
F ( , )
2. Complete. 3. Write in standard notation.
a. 5m= __cm a. 9°
b. __cm=700mm b. = 3°

e. 900 mm = ________Ccm

g _ ___cm=35m

4. Add. Write your answers as 5.
fractions, whole numbers, or

o - a. 51%26 =
mixed numbers in simplest form. “ 2

f 3 Y037 o O o=
A g% — b. 007 8= ____
7 Co o = (.28 * 0.03

@6
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Time

1. Write the rule for the numbers in § 2. Find the measure of ZR, without
the table. Then complete the table. | measuring the angle.
E
Rule: — | Measureof /R = __
|
FE— SIS
§
" ! A
in ou |
| E 97°
12 | 36 | 125
0| o § pLZ8 R
_______ R |
12 |
—_— f
15
—— |
1 |
g
|
f
3. Find the solution for each number 5 4. Divide
sentence. | S
I &, 8 —> . S
a. 182=n+85 __ |
| b. 2045/7 - e
b. b— 436 =728 . cen
| ZoE
; @ = 46 T e s s s
c. 6x h=06 — g i %ﬁ . -
d. 145 = & S

W‘&%@
Cont

L=

-

— o)
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1. Write in standard notation.
a.Vd=___ b.V6=___ c.VA9=___ d. V1= _
2. Complete the table. Then graph the data and connect the points.

Samantha earns $9 for each yard she mows.

Rule: Earnings = $9 * number of yards mowed

ﬁsmb&rﬁf ya;'ds "“E:aﬁiings {5?
B SRy @y
1
2
3
45
6

(3)

Eas
L3

Earning

i_:f}

o
&

h
<

G
o]

3]
L

01 2 3 45 8

Number @%‘yafég

T § B 1962— | 1969~ | 1977- | 1993~
Voata % E%éﬁ%; 1961 %&ﬁ: m:;»% 1977 1993
: | 1960 1968 | 1976 1992 1997
| Number of Major | , )
, | 16 18 20 24 26 28
League Teams |

Number of teams




4. Write the rule for the numbers in 2. Find the measure of ZN without
the table. Then complete the table. measuring the angle.
Rule: ~ I Measureof £N= .
N
in oul
24 4 B4° 48°
,,,,,,,,,,,,,,,, i 0 T
0 0
15
o i ,,,,,,,,,,,,,,,,,, _
2
1
1 5
3. Find the solution for each number 4. Divide
sentence. ’
s —
a, 278 =d+ 126 . o
b, 174218 > .
B, h— 75.9 = 14.6 -
C. 35 R
e. 9% k=108 e .
g B2
6. 05=2

ol
sy
R Y




1.

2.

3. From 1860 to 1861, el

Write in standard notation.

a 9=___ b PE=_____ e ®l=__— d Vidd=__
— DR [ . _

R
Complete the table. Then graph the data and connect the points.

Harry travels about 8 miles per hour on his bike. 6{}%,”,
Rule: Distance traveled = 8 * number of hours w "
Time (hr) | Distance (mi) | _ e
)y | @xh. £
1 ©Q Bof—r—T T T
- R b
@ e
2 A 20 - N,,,tm‘.‘,,,,,;’w_,“’,’,.;’MMA;,M’,,;‘,,,f,,N1,,
MM% = et
B 10} ;;
5
MM 0 f J—1 : +
56 : c1 2 3 4 5 6 7
= Time (hr)

- ——
even states seceded from the United States. All eleven
between 1866 and 1870. (Four new states joined the

stales were reinstated
Union between 1860 and 1866.)

| Number
Years | of States | The following table shows the number of states in
: ,1 “?Tgﬁg gg the United States from 1859 to 1870. Make a step

@gggﬂ_ 33 graph to display this information.
1860
18611862 " ,
e o a35)
o
o188 | %
18641865 © 30
T %:
1866 £
i § 28

i S | ——

e —
i R —

- ——
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1. Fill in the missing numbers. 2. Complete:
‘Frac“t’ipn Decimal Percent a. 8 millior
- 3 T B b. 25 billion
0.25 ? c. 23.5 millio
40% _th
o d. 0.7 billion =
65%
0.9

3. The school supply store purchased | 4. Complete.

500 notebooks. They were shipped
in boxes that could hold 12
notebooks each. b

%Q

How many boxes were ¢
needed to ship the entire order?

. 5o of 7834 =

45 0f 268 =

. 155 of 21,509 =

s of 72 =

5. Complete the table. Use a calculator for this problem.
e ey I R—
' Exponential Calculator
Words ¢ Product
Notation Key Sequence
five to the seventh power 5{y*17 [=]
four to the fifth power
sixteen to the third power

sl

Gagh
P




1. Complete. 2. Insert the decimal point in
the product.

a. 25%o0f32=___
a. 57%44=25 08
b. 60%0f25 = ___

b. 334%02=6 6 8
e. = 50%o0f31
o c. 12%365=4 3 8
d. 665%0f36 =
d. 042%x7=2 9 4

e. 584 %0581 =3 39304

f. 630%0.063=39 6 9

3. Subtract. Write your answer as 4. Write each in standard notation.
a fraction or mixed number in

3 __
simplest form. a. 4 %107 = __

5. Complete. 6. Michael is 5 years younger than
) & Misha and 3 years older than Gary
a. 4ft= in
o a. Whoistheoldest? _
b. 7H8InN= in

s
Lo
oy
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1. Draw line segments having the following lengths.

5

13 inches
b. 2% inches
e. Zinch
2. Complete. 3. Write five names 24
) B for 24. Each name
a zof27r=___ must contain a
b. = 2 of 30 multiplication sign,
, ) a division sign,
c. ;ofd2=__ and parentheses.
d. 2of60=
e. = 2 of 56
4. The graph below shows the kinds of items parents at an elementary
school bought for their children at the start of the school year and the
number of parents who bought each kind of item. (Most parents bought

more than one kind of item.)

a. How many more parents Back-to-School
bought clothing Purchases
than textbooks? '

B. About how many times
as many parents bought
clothing as bought
computer supplies?

MNurmber of parents

?{}%’ %?’%g}ﬁ%? g;g;g:}ée $53 for
textbooks, and $64 for ‘i%*i%s’
items. How n ,;;f‘%* did ali the
parents in the school

"
e




Date Time
Math Boxes 38
1. Fill in the missing numbers. 2. Complete
) : SR a. 6 million =
Fraction | Decimal | Percent | %
1 ___ thousands
5
0.625 b. 37 billion =
60%  millions
% c. 1.8billion= ___ ___ millions
5% d. 9 billion =
0.7 __ thousands
3. Seventy-seven children in the 4. Complete.
after-school program signed 709 _
up to play in the basketball a 3 T ——
tournament. Each team has at b. 8%%%‘% -
least 5 players on it. If each ‘
352
student plays on only one team, e = 100
what is the greatest number 96
< éa “%GQ = L N
of teams that can
play in the tournament? ______
5. Complete the table. Use a calculator for this problem.
e ‘ ; ‘Exponential | Calculator !
Words il ' .. Product

* Notation

Key Sequence |

two to the eighth power

2 LK R
2 [y*]8[=]

nine to the si

xth pow

twenty-one to the

fourth power

(Y




Time

1. Complete. 2. Multiply
a. 75% of 44 = a. 26x51=__
b. 80% of 70 = - b. =519 %07
c. = 37.5% of 32 c. 21507 = ___
d. 90% of 36 = d. = 0.56 * 12
3. Subtract. Write your answer as a 4. Write each in scientific notation
fraction or mixed number in B
simplest form. a. 7000=
a, 73— 3§ — b. = 800,000
. c. 250,000 = __ _—
b. =3 - 13
d. 2960 =
.5y —25=
S e. = 50,800
d =17 — 13¢
5. Complete. 6. In 5 years, Gina will be twice as
L old as Scottie. Scotiie is 8 years
a. 4qt=_pt old now.
b. 9gal2qt= _—_qt a. How old will
. 21¢c = pt c Gina be
in 5 years? I
d. 54 gt = gal gt
b. How old is
Gina now? R
Uise with Lesson 38, 149
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1. The results of a survey are shown in the table below. Fill in the percent
column. Then make a circle graph to display the results of the survey
shown in the table.

Fruit Number | Percent

of Votes | of Total
Apples 20
Bananas 12
Grapes 5
Oranges 8
Other 5
Total 50

2. Write 5 names for 3.6. You must 3. Make each sentence true by

use addition or multiplication.

3.6

inserting parentheses.

3

651
o0




1. a. What is an acute angle?

b. What is an obtuse angle?

gﬁ

¢. Draw a triangle that has three
acute angles.

a. Use a compass to draw a circle
whose circumference is about
15.7 centimeters. Use the n key
on a calculator or 3.14 as the
value for .

b. Describe what you did to solve
the problem.

Salve. Solution
8. ¢c— 468 = 32
b. 7= 14

5. Plot each number on the number line and write the letter label for the point.

A8 B: —6 C: 35 D: the opposite of 5
z § H H § F % z 3 ¥ : § f
i P i i ]
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1. Complete.

a. tofd48=__ _

o 8 € o
13 k3 w
o ~{R @l

@
"
SRS

ofed = i
26f35 =
Sof6d =

of800 = ___

2. Find the perimeter of a regular

hexagon whose sides are
12.7 centimeters long.

Perimeter = . .

3. Subtract

a. 23.72 — 156.09 =

Problem

100,000

Calculator
Display

Scientific Notation Standard Notation
1 % 10" 1,000,000,000,000,00

9,000,000

I oeves




dftisabout ______om

S5miisabout ____ km.

6 in is about cim.

{Omisabout ______ vyd.

8lbisabout _____ KG.

4. Rename each fraction as a mixed 3 Estimate the answers.
number or whole number.
-
17
g% ,:%. i
b.
12
b. = =5
[+
28 .
c. 5 = 0
§§
d. L= __
.
43
S = o ... = A

3. Measure each angle to the nearest degree.

2. b.

170

OSSO
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1. Solve. Solution 2. Solve.
a. g=4  ___ . a. 7+ (—~12) =
b. 2=6 o b. ~8+ 8 =
c. 1= o c. —2+(—10) =
= £ R 13 = _
3. The spreadsheet Al B i c b

at the right shows the
number of baskets
and free throws
scored by players

on a basketball team.
Each basket is worth
2 points, and each
free throw is worth

1 point. Fill in the
total points.

Player | Baskets | Free Throws | Total Points :

Joe 3 3 9

2
0
4
3

o
o
3
Hloo | ;

Nio e s welal
5
o

a. What information is shown in Cell B47

b. The greatest number of points
scored by a player is shown in Cell

¢. Circle the correct formula for calculating the number
of points Sam scored.
D5 = B5 + C5 D5 = (2 * B5) + C5 D5 = B5 + (2 * C5)

d. Circle the formula you should not use to calculate the total number of
points the team scored.

D7 = B7 + C7 D7=D2+D3+D4+D5+D8 D7 = (2 = B7) + C7

£

&W@
o




1. Complete. 2. The perimeter of a regular
5 B pentagon is 38 feet. What is
O the length of each side of the
b. Sof24 = pentagon?
c. Sof48 = _ Lengthofside = __
d. Jof2l =
e. Sof32 =
3. Subtract.
a. 156.41 — 25,96 = b. 289 — 8.37 = c. 64 — 475 =

4. Use your calculator to complete the table.

tor
Problem Calcqla_or_ ‘Scientific Notation | Standard Notation
Display _
3,000,0007
400° — 800"

v
o
N
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4. Rename each fraction as a mixed 2, Estimate the answers.
number or whole number.

a. 25/3 =

a. bLisabout _ gt
b. = 17/5

b. 3kmisabout __________ mi

c. 10cmisabout _in.
d. 35/7 = )

d. 20ydisabout ______ m.
e = 68/8 . ,

e. 8kgisabout _____ Ib.

523 ) 8
a. 285 0000 b. 2609/73 —
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1. Solve. Solution 2. Add.
a. =16 a O+ (—4)=
b. $=5 b. 15+ (—15) =
c. S=4 c. —12+(=7)=
d. =% d. —5+13=
3. Darin charges $3 an hour to baby-sit on weekdays and $4 an hour on

weekends. The spreadsheet below is a record of the baby-sitting he
did in a week.

A ‘ B C
1 | Day of Week NUS;?}?;Of Earnings
2 Monday—_ —4 I
_.’;,_ ! _V_Vegr;t;da;_ ) 2 -
W soturdy | 3 | 0
& soany | 5 |
_;3— . ﬁl S S ———l —

a. Fill in the missing numbers on the spreadsheet.

TS

b, What information is shown in Cell B47

.

e. The least number of hours he baby-sat is shown in Cell

d. Circle the correct formula for calculating Darin’s earnings on Wednesday.

2% C2 C3=3#B3 C3=4%C2

w
il

C
e. Circle the formula Darin should not use to calculate his total earnings.
C6=C2+C3+C4+C5 C6=35%=B6

C6 = (3 + B2) + (3 % B3) + (4 # B4) + (4 x BY)

z
% £
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The table at the right shows how much a person
weighing 100 pounds on Earth would weigh on
each of the planets in the Solar System.

On which planet would a person weigh
about ¢ as much as on Mercury?

e

. On which planet would a person weigh
about 3 times as much as on Mars?

i

. On which planet would a person weigh
about 2} times as much as on Earth?

Planet @Z;g;}hi :
Mercury | 37
?é%%% 88
Earth 100
Mars 38 E
Jupiter | 264
méaé:u?ﬂ 115
I}raﬁas 93
N@éﬁme 122
Pluto 6

&b
o

_ 5
B, 4 — 7 =

c. 8— (-3 =

d. — 6~ (—1)=

Use your calculator to rename
each fraction as a decimal.

Draw and label the following angles.

& ZPOL 135°

o
05
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1. Rename each mixed number as 2. Solve.
a fraction.
a. Marvin’s mother is 5 times
= 3l as old as Marvin.
o R Marvin's mother is 25.
5 How old is Marvin? .
b. 65 =
b. In a few years, Marvin’s mother
c. 173 = will be 3 times as old as
Marvin. How old
d. =9} will Marvin be then?
:iég‘ y How old will
| I — Marvin’s mother be?

a. How much higher is Mt. McKinley than Mt. Whitney?

b. How many feet below Mt. McKinley is Death Valley?

3. The highest point in North America is the top of Mt. McKinley, Alaska, with
an elevation of 20,320 feet. The highest point in the lower 48 states of the
United States is the top of Mi. Whitney, California, with an elevation of 14,494
feet. The lowest point in the United States is in Death Valley, California, at
282 feet below sea level.

i

Favorite Number | Percent
Sport of People | ofTotal
Gymnastics 21
//// é@ﬁ%mméﬁg 9
Eag%‘%&aéé 0 24
 Other 6

4. The table below shows the results of a survey of people’s favorite Olympic
sports. Fill in the missing information in the table. Then use a protractor to
make a circle graph of the results. DO NOT USE THE PERCENT CIRCLE.

sl
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1. Rename each mixed number as 2. Solve
a fraction

a. Sara is ; the age of her father.
Sara’s father is 60. How many
years older than
Sara is Sara’s father?

1
a. = 53

b. How many years
c. 19 = ago was Sara 15
her father’s age? S

d. =43 ¢. How old was
she then? e

3. The highest point on Earth is the top of Mt. Everest, which is 8848 meters
above sea level. The lowest point on land is the Dead Sea, which is
399 meters below sea level. The lowest point on Earth’s surface is thought to
be in the Pacific Ocean at 11,034 meters below sea level.

a. How much higher is the top of
Mt. Everest than the Dead Sea?

b. How many more meters below sea level is
the lowest point on Earth than the Dead Sea?

4. The table below shows the results of a survey in which pediatricians were
asked to name their favorite way of treating their own children’s coughs and
colds. Use a protractor to make a circle graph of the results. DO NOT USE
’?i%% PERCENT CIRCLE.

R Percen’% of
: ”?’%‘eg‘tmgi%z ?edlﬁtric:ang
Do nothing 62%
Rest and fluids 7%
Medicine 13%
Other 8%

N
v
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The sum of the measures of the interior angles of a triangle = 1
Distance = rate X time
Simple interest Formula: A = p + pri

A = amount after t years; p = principal; r = annual interest rate; = number of year

Square § Rectangle g
7= 3. %é or2 Area =52 | Area =Iw e 1w
— - : pee == - Parimeter = 45 § Perimeter=2/+2w O ; o
i
Circle V i , .y ‘ N —
/;?\\ Triangle KI ~ Parallelogram /— ;
; 3 / 3 H / th . . f{ h /
Area =y Area =3bh  / j S Area = bh / a /
Circumfarence = 2ur \&f = : Sgpo——1
=nd b b

Volumes lwh ! Volume = nreh
Surface Area= Lo - Surface Area =
2w + 2wh + 2th 7 " 2urh + 2yt

Rectangular Prism % 1 Cvyiinder @
. h | i
]
§
!

e,
g
%
4
#

5E THE FOLLOWING EQUIVALENTS FOR YOUR CALCULATIONS S

60 seconds = 1 minute 12 inches = 1 fodl 10 milimeters = 1 centimeter
60 minutes = 1 hour 3feet = 1yard 100 centimeters = 1 meter
24 hours = 1 day 38 inches = 1 vard 10 decimeters = 1 meter
7 days = 1 week 5,280 feet = 1 mile 1000 meters = 1 kilometsr
i 12 months = 1 year 1,780 vards = 1 mile
365 days = 1 year
g fluid ounces = 1 1B ounces = 1 pound
Z2cups = 1 2,000 pounds = 1 ton
Zpints = 1
dguards = T = 1 gram
= 1 gram
= 1 Her (L} = 1 dekagram ‘
= 1 kilogram '




